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Relative dielectric ~ Overlap area, m?

constant \ /

C’:8.86-€T-% pF

\

Dielectric thickness, m
® cr-= 9.4 for G-10, G11,

FR-4, FR-5

® cr = 4.8 for FR-2, FR-3
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Coupling Capacity

/
pF/em = 0.122 - £ 4+ 0.0905 (1 + er) !

@ s = dist. between two adjacent conductors, mm
® t=laminate thickness, mm

® w =conductor width, mm
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per unit Inductance

/
nH/cm = 9.21 - log (S+w) +6—a

2.082
Where g = 4 . <S+w - 0.0967 - (’LUL—FS) )
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s = dist. between two adjacent conductors, mm
t = laminate thickness, mm
w = conductor width, mm

1 = parallel run length, cm



